ECON 2301H (Lee) Test 1 Study Guide
50 Multiple-Choice Questions. 

Test date: Oct. 19th, in class.  Time allowance: 120 minutes.  Bring one scantron (882-E).

INSTRUCTIONS: Choose the one alternative that best completes the statement or answers the question. 

Textbook chapters: 1, 2, 3, 4, 7, 8
[These are questions. Figures included in questions have been omitted from this Study Guide]

1. Which statement most accurately defines economics? 

2. Which of the following topics is a macroeconomic topic?

3. The ceteris paribus assumption is important in economics since

4. Which of the following is an example of an application of the ceteris paribus assumption?

5. When people donate money to a charity, they behave

6. Which of the following is a positive economic statement?

7. Which of the following statements is TRUE about scarcity?

8. All of the following are economic resources, or factors of production EXCEPT

9. Extremely cold winter weather has destroyed oranges in Florida. The freeze has caused

10. Economists are concerned with an individual's

11. For which of the following individuals would the opportunity cost of going to college be highest

12. A government policy that increases unemployment benefits to unemployed people would 

13. You have the option of consuming one cup of coffee or two donuts or three oranges. You picked the cup of coffee. Therefore the opportunity cost of this cup of coffee is

14. The opportunity cost of going to college full time away from home include all of the following EXCEPT

15. The production possibilities curve shifts outward when

16. Refer to the above figure. If the economy is producing 400 bushels of beans and 775 bushels of wheat, then we know that the economy

17. Refer to the above figure. Between points f and g, the opportunity cost of producing 75 more bushels of wheat is

18. Division of labor increases the output of society by

19. Which of the following is an example of the law of demand?

20. According to the law of demand, an increase in the price of an item

21. When McDonald's runs a special for hamburgers by reducing the price of Big Macs to $0.99. all else being constant, then

22. Sarah gets a salary increase of 20 percent. Before her raise, she purchased 5 pounds of hamburger and 1 pound of beef stew a month. After her raise, she consumes 2 pounds of hamburger and 3 pounds of beef stew a month. If everything else is held constant, we know that

23. Refer to the above figure. Moving from Point A to Point B indicates

24. The law of supply states that

25. Refer to the above figure. Which of the following statements is true?

26. Sugar is an input to produce cereal. Suppose that the price of sugar rises.  As a result,

27. Based on the above figure, which diagram depicts the effect on the supply of Corn Flakes when the price of Corn Flakes has decreased?

28. If the market price falls from P0 to P1 in the above figure, then

29. Other things being equal, when the government imposes a price floor at P2 in the above figure, we would expect

30. Suppose the price of lumber decreases.  In the market for new homes, we would expect which of the following to occur?

31. If one day it was discovered that lime juice caused cancer, which of the following would likely result?

32. Suppose that consumer income decreases and that hamburger is an inferior good.  Which of the following will occur in the market for hamburger? 

33. In recent years, the price of personal computers has fallen, while the quantity exchanged has risen. We can conclude that this is most likely a result of

34. Unemployment is measured as

35. Bob loses his job with a telemarketing company, which has moved its operation to India.  Bob is considered

36. The U.S. unemployment rate increased substantially during the recession between 2007 and 2009.  Which type of unemployment would most likely increase during that period of recession?

37. An unemployment rate of zero cannot be expected since

38. Inflation is best defined as

39. Assume you borrow funds to buy a new car at xx percent interest and you think that the economy-wide rate of inflation over the life of the loan will be xx percent. If you are correct in your assumption, your real rate of interest on the car loan will be

40. Who stands to gain as a result of unanticipated inflation?

41. Typically during a recession

42. In the circular flow model

43. Gross Domestic Product is best defined as

44. Which of the following would be included when calculating Gross Domestic Product?

45. Which of the following is a final good?

46. GDP is a measure of all of the following EXCEPT

47. Which of the following transactions would NOT contribute to the GDP?

48. Which of the following is an example of investment in computing Gross Domestic Product?

49. Suppose your income rose xxx% between 2000 and 2010, while the CPI rose xx%.   Your standard of living in terms of the purchasing power of your income has likely 
50. Real GDP is

